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Section A

Some of the questions require you to use a source. In these questions, you will need to use
your knowledge of the topic to interpret the source.

You are advised to spend about 15 minutes on this section.

Answer EITHER Question 1 OR Question 2.

1 Study the source carefully and then answer the questions which follow.

SOURCE A

A British cartoon commenting on the crisis over Czechoslovakia in 1938.
The man in the picture is Neville Chamberlain, the British Prime Minister.

1 (a) Study Source A.

What is the message of this cartoon? Use details of the cartoon and your knowledge to
]6[.rewsna ruoy nialpxe

(b) ]9[.aikavolsohcezC revo ekat ot detnaw reltiH yhw nialpxE
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A cartoon has been removed due to third party copyright
restrictions.

Details:

A cartoon showing Neville Chamberlain rolling a large globe
over a narrow bridge labelled ‘Czech Crisis’. Peace is at the

end of the bridge and war is either side of it.



2 Study the source carefully and then answer the questions which follow.

SOURCE B

A British cartoon of July 1988 commenting on Gorbachev’s policies 
of ‘glasnost’ and ‘perestroika’. The man behind the �ag is Gorbachev.

2 (a) Study Source B.

What is the message of this cartoon? Use details of the cartoon and your knowledge to
]6[.rewsna ruoy nialpxe

(b) Explain why communism collapsed in Eastern Europe during the 1980s. [9]
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A cartoon has been removed due to third party copyright
restrictions.

Details:

A British cartoon of July 1988 commenting on Gorbachev’s policies of
‘glasnost’ and ‘perestroika’. It shows 2 people (representing each of the

policies) surrounded by lions which are labelled ‘strikes’, ‘unrest’ and
‘riots’.



Section B

You are advised to spend about 35 minutes on this section.

Answer ONE question from this section.

3 (a) What land did Germany lose in the Treaty of Versailles? [4]

(b) Explain why the Allies punished Germany in the Treaty of Versailles. [6]

(c) How satisfied were the Allied leaders with the Treaty of Versailles? Explain your answer. [10]

4 (a) What was the structure of the League of Nations? [4]

(b) Explain how the League of Nations tried to solve social problems during the 1920s and
1930s. [6]

(c) How successful was the League of Nations at keeping peace in the 1920s and 1930s?
Explain your answer. [10]

5 (a) What was agreed at the Yalta Conference, 1945? [4]

(b) Explain why the USA introduced the Marshall Plan. [6]

(c) How successful was the Soviet government at spreading communism in Europe between
1945 and 1949? Explain your answer. [10]

6 (a) What events between 1959 and January 1961 led the USA to break off diplomatic relations
with Cuba? [4]

(b) Explain why the Bay of Pigs invasion failed. [6]

(c) How successful was Kennedy in dealing with the problem of Soviet missiles in Cuba? Explain
your answer. [10]
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Section C: Depth Study

Russia, 1905–1941

Some of the questions require you to use sources. In these questions, you will need to use your
knowledge of the topic to interpret and evaluate the sources. When you are asked to use
specific sources you must do so, but you may also use any of the other sources within the
question if they are relevant.

You are advised to spend about 70 minutes on this section.

Answer Question 7 and ONE other question.

7 Study the sources carefully and then answer the questions which follow.

SOURCE C

A Bolshevik poster published in 1919. 
The slogan says ‘Shoulder to shoulder in defence of Petrograd’.
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SOURCE D

A Bolshevik cartoon published in 1919. The people represent the USA, 
France and Britain and the dogs represent the White Army generals.

SOURCE E

Comments of a Red Army soldier about Trotsky’s visit to the front line.

7 (a) Study Source C.

Why did the Bolsheviks publish this poster in 1919? Use the source and your knowledge to
explain your answer. [7]

(b) Study Source D.

What is the message of this cartoon? Use the source and your knowledge to explain your
answer. [6]

(c) Study Source E.

How far does this source explain the success of the Bolsheviks during the Civil War? Use the
source and your knowledge to explain your answer. [7]

Trotsky paid a visit to the front lines. He made a speech. We were lifted by his energy. The
situation, which had been disastrous 24 hours earlier, was improved by his coming as though
by a miracle.
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Choose ONE of the following two questions.

You must answer ALL parts of the question you choose.

8 (a) What happened on Bloody Sunday, January 1905? [4]

(b) Explain why Nicholas II survived the 1905 revolution. [6]

(c) The following were reasons why Tsarist rule ended in 1917:

(i) the influence of Rasputin;

(ii) the collapse of the army;

(iii) strikes and food shortages.

Which do you think was most important? Explain your answer, referring only to (i), (ii)
and (iii). [10]

9 (a) Describe the main features of the Five-Year Plans. [4]

(b) Explain why Stalin introduced the Five-Year Plans. [6]

(c) The following brought misery to the Soviet people during the 1930s:

(i) the secret police;

(ii) the purges;

(iii) collectivisation.

Which of these do you think brought the greatest misery? Explain your answer, referring only
to (i), (ii) and (iii). [10]
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